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Fhye aga’ = & m m m m
1 12|91l fE1E @) R +/- +/- +/- +/-
=v) F an) = & m m m m
2| 1105(7H 0 fHE(2) HE +/- +/= +/- +/-
7tay JUh = & m m m m
3| 128lfnBE  SrEH QD T K R +/- +/= +/= +/-
IS AVARVES = = m m m m
4| 1555[Fk JR (1) BEAE +/- +/- +/= +/-
AR EEUZ N = & m m m m
5| 6671|HO Mk @) BEfEK +/- +/= +/= +/-
EVAEDRVEVZ 1] = = m m m m
6] 287/ R (1) JrEhe +/- +/= +/- +/-
ThyY 9% = & m m m m
7] B27|H S ELEEA (2) F4TE +/- +/~ +/- +/-
ANy = & m m m m
8| 224|FiR  1&KEE(2) FET = +/- +/- +/- +/-
knt ) =5 m m m m
9] B5T1|EEME A (2) 44 SRR v +/- +/~ +/- +/-
ta o4y ey = & m m m m
10] 378 AR (2) TR E +/- +/- +/- +/-
H % hF = & m m m m
11| 760]{ I A — (2) DY T +/- +/- +/- +/-
¥ang vy = = m m m m
12 1248|iEJ5 R (2) —EH&E +/- +/- +/= +/-
T 2y = & m m m m
13| 148]#2 0 Bt (2) WA +/- +/- +/= +/-
hayng 2y = & m m m m
14| 1551 &) BEEE +/- +/= +/- +/-
NAVAVELL = & m m m m
15] LT BA®) ek Eaa +/- +/- +/- +/-
N2 = & m m m m
16] 420|911 #HAQ FEIa L P = +/- +/= +/- +/-
Wrin iy = = m m m m
17 1650170 KEQ@ SEEE +/- +/= +/- +/-
L vz vany = & m m m m
18] 419 FAR Q) FEIa L P = +/- +/= +/- +/-
B <t = & m m m m
19] 6566|MH  HEA(2) EESEPN +/- +/= +/= +/-
v Ay b = & m m m m
20 15| E I EH(2) R +/- +/- +/- +/-
VAT AyF = & m m m m
21| 1587| &R —H5(3) BEAE +/- +/- +/= +/-
LV AREVZE = & m m m m
22| 7T67|/NH KRR (2) DY T +/- +/= +/- +/-
)77 N 94 = & m m m m
23] 6515|(G# Skt oy +/- +/- +/- +/-
y74% tAm = & m m m m
24| 1064 |7  BH{a (3) LD +/- +/- +/- +/-
BERT ayak =5 m m m m
25| 597|MrH  EE A HRR +/- +/- +/= +/-
oy EEVAN = & m m m m
26| 5893|HH  {HH-(4) TR T EEH +/- +/= +/= +/-
YIh7 $7h = & m m m m
27| 5210 FEAt fulim A FEEREE +/- +/- +/- +/-
7rEh fE = & m m m m
28| 644|tEA  HERE (3) PN +/- +/- +/- +/-
T FU% =5 m m m m
29| 589|#It  EHE() PN +/- +/~ +/- +/-
Yoyt Jokay =5 m m m m
30| 654 LIPNAERER (3) HRR +/- +/- +/= +/-




— R B F Rk

= HIRGIEL (KR) 8m05 g FECGIKEE) Fn 3 4 (2021) 11H4H 10:40 3 B 14
R R EL Bk (KH) Tm64 g PECEKEE) SRR 304F (2018) 11H4H 10:40 ¥ J 241
250
HIE |t - [R4 g AEIRE] 2[BlH 3[ElH Rk JIEfT VA
kY BVEVAS = & m m m m
1| 1586][i 75 B (3) BEEE +/- +/- +/= +/-
B AT = & m m m m
2| 5789\ M KHh(4) TR T H +/- +/- +/- +/-
YIhT 2YAF = & m m m m
3] 1043] BAS AR (1) i +/- +/- +/- +/-
&z prh = = m m m m
4] 997[HIL A (2) AH AL 5 +/- +/- +/- +/-
ANy At = & m m m m
5| 1502 #AE (1) FIE +/- +/- +/- +/-
NEN VT = = m m m m
6] 1531[MEAR  EZ= ) =y +/- +/= +/- +/-
Fhy Vay = & m m m m
7] 1112{fbH % (1) HETE +/- +/- +/- +/-
ANy vany = & m m m m
8| 1629|[ H _ FHIK (2) 4 BRI +/- +/= +/= +/-
WY A = H m m m m
9| an|ER  HifE) 1L +/- +/- +/- +/-
WA M = & m m m m
10| 1652|#& H UZEY) HA PR = +/- +/- +/= +/-
Jufy tuh = & m m m m
11 3| ) R +/- +/- +/- +/-
vy ayyd = & m m m m
12] 1640/l A (D) BEAE +/- +/- +/= +/-
an’yy twh = & m m m m
13 473/hk  RFERQD 1L +/- +/- +/- +/-
ANRZY = & m m m m
14] 1463| T K1) DB E +/- +/- +/- +/-
UHFNT Y = & m m m m
15 23[EiE  IEE (D R +/- +/- +/- +/-
¥ hAh = & m m m m
16|  468|HEF  EK(2) L +/- +/= +/- +/-
$h)F gy = & m m m m
17] 121130 #42(2) B 5 = +/- +/= +/= +/-
NTF Yy = = m m m m
18] 1070|110 #L (1) D +/- +/= +/- +/-
A%b7 T = & m m m m
19 996 4Af K-(2) [HHA[E - - /- /-
BAEV = & m m m m
20| 1522|798  fEME(D) —EE +/- +/= +/- +/-
Loy EVA = & m m m m
21  493|HH B+ () INJEE +/- +/- +/- +/-
=VhT Ky = = m m m m
22| 1ed2|Fkt BRE() R /- /- /- /-
VA VI = & m m m m
23] 1o42|mm  —HE(D) i +/- +/- +/- +/-
Javv It/ = & m m m m
24]  933|#EIl KA (D) iRl +/- +/- +/- +/-
NPT Ragy = & m m m m
25| ATT|¥EE ZS8R (D) 1L +/- +/- +/- +/-
A~ = = m m m m
26] 467PI& FHEE(2) Bl +/- +/- +/- +/-
IR EvsZ = m m m m
27 1518[ffk PR (2) FIE +/- +/- +/- +/-
IYEN Fayay = & m m m m
28] 413|EAR A2 iR L P = +/- +/= +/- +/-
Yev4 auffay = & m m m m
29]  265|11 FR—E1(2) AT +/- +/- +/- +/-




— iR B F BBk

= HIRGIEL (KR) 17m00 g PEGIKEE) 43Fn 3 4F(2021)
IR RE Bk (KH) 15m65 Pk 2 GIT K 0 ) BFFEAF (2019) 11H4H 15:00 ¥ J 14
B =R (K)) 14m07 K EXRE Fn) SER294E (2017) 11H4H 15:00 ¥ B 24
14H
RIE | o - | R4 iz 1=H 2[al H 3[ElH Rk JIEfE ap/h
A% vy = = m m m m
1 1108%Ahk [Ek(2) HETE +/- +/- +/- +/-
T Ak = = m m m m
2 283 |l FH_ FodE (1) G +/- +/- +/- +/-
4% ank = = m m m m
3| 1048 A K e +/- +/- +/- +/-
Y v = = m m m m
4 42014011 FrR (D) FIE U HEE +/- +/- +/- +/-
Mo by = | m m m m
5| 1136+t & (3) JE A +/- +/- +/~ +/-
YEN M = = m m m m
6]  267[EAR  FiE(2) T +/- +/= +/~ +/-
w8 94 = = m m m m
7] 234{H #L.(1) FE T /- +/- +/- +/-
ISEVANVED = | m m m m
8] 1555|F-k JR (1) 2 A +/~ +/- +/- +/-
VENUVEY) = | m m m m
9] 830\ T Q) (221 +/- +/- +/- +/-
UFET A = = m m m m
10| 6288|4TH  {RA(2) JIE K K +/- +/- +/- +/-
IRy U = | m m m m
1] 46|87 %82 |FIAIIH M /- /- /- +/-
EVIVEELZA = | m m m m
12| 258ldbAt MK (2) s +/- +/- +/- +/-
V)y angf = = m m m m
13| 1126]f8 M HE— ) P +/- +/- +/- +/-
AREVL = & m m m m
14 263]i+ FAK(2) ikl +/- +/- +/- +/-
YYEh Ak ( = | m m m m
15| 6666]ILA HEK(2) EL- 3PN +/- +/- +/- +/-
Y vank = = m m m m
16] 1567|911 FHA(3) AN +/- +/- +/~ +/-
NITF ) alh = = m m m m
17| 57110 P& Ise TC +/- +/- +/- +/-
Y447 AYh = = m m m m
18] 1194k HEA () PN +/- +/- +/= +/-
Fhye vayrr = = m m m m
19] 973\l A (1) PRK +/- +/- +/- +/-
=D By = ®H m m m m
20| 5038|7aE T F=T +/- +/- +/= +/-




— iR B F BBk

= HIRGIEL (KR) 17m00 g PEGIKEE) 43Fn 3 4F(2021)
IR RE Bk (KH) 15m65 Pk 2 GIT K 0 ) BFFEAF (2019) 11H4H 15:00 ¥ J 14
B =R (K)) 14m07 K EXRE Fn) SER294E (2017) 11H4H 15:00 ¥ B 24
24
AE | Fon' - K4 iz JENE 2[a1H RIEIRE| Rk JIEfE P2
V=N VN = = m m m m
1| 1396|BidR A (2) TEiEA +/- +/- +/~ +/-
1AM 74% = = m m m m
2] 153\ A (D) W R IR +/- +/- +/- +/-
PV Vanyy = = m m m m
3| 1115] ARALER L (1) HETE +/- +/- +/- +/-
PR AviA = = m m m m
4 820 H -BE (1) N +/- +/- +/- +/-
2N 20 = | m m m m
5| 1118[¥EH X Q) P +/- +/- +/- +/-
Th) T2k = H m m m m
6 19| EH (D) A JE +/- +/- +/- +/-
A%hT Faurr = m m m m
7] 4694 Ak (@) T +/- +/- +/- +/-
=y F af) = = m m m m
8| 1105|750 fHHL(2) P +/~ +/- +/- +/-
Tt V7 = = m m m m
9]  379|HE IR (2) B +/- +/- /- /-
Lz VA=V = = m m m m
10] 2890)%H & A (D TaiEA +/- +/- +/= +/-
TIh7 <t = = m m m m
11| 1449|184 (—H Q) WA T +/- +/- +/- +/-
2SR = = m m m m
12 LLLI)IRT 188 (2) P +/- +/- +/- +/-
A0 Jant = ®H m m m m
13| 863|fHi%E  HEAE(2) FEE ) +/- +/- +/~ +/-
WEN N = = m m m m
14] 465\ &Ik (2) T +/- +/~ +/- +/-
Y b = &H m m m m
15|  858|3CEE Bk (2) FEE ) +/- +/- +/- +/-
Ty MF = = m m m m
16]  857|3cEk K—(2) FEE ) +/- +/- +/~ +/-
MY vanh = = m m m m
17 286|f#EEE ALK (D) ikl +/~ +/- +/- +/-
V7 =SV = = m m m m
18] 4194 FARQD) “EIR L P +/- +/- +/- +/-
YEN b = = m m m m
19]  239|'mA  #EQ FE T /- /- /- /-
“Vh BAF = = m m m m
20] 222|781 KE(2) FE T +/- +/- +/- +/-




—i% B FRa L (7. 260kg)

— IR e (KR) 18m29 NS A QE: NNy T59) A F0 4 47 (2022) 11H4H 10:30 3 Bk

HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
(0F Jypny = &
1| 6567 A RRARS (2) EESEPN il m m m
INEVERUEUA = |
2| 6533|BIFT _#ESF = E ety m il m m

iR BB PR AL (6. 000kg)

U e e Lk (KH) ITm24 B SEHR (FIAILE ) S 174 (2005) 1LA4H 10:30 3

HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA

S = &

1 1ee4|FHA  # Q) G il m m ol
I DA%l = &

2 UMM &5 (1) G il il m m
IR A D08 = &

3 29|BF 3 FEEE (D G il m m ol
ya¥e AN = HW

4 27\l T (D) G il il il m
VY = &

5| 1114 (1) HEVE m m m m
YN B W = &

6] 1190/%EH  HiA (2) 4 IR I m m m m
EhY e = &

71 2113|411 FE=E(2) G m m m m
YR VILY. Sl

8| 423|E HH AL (1) I 1L HH P m m m m
9T e Sl

9| 233lin 2 (1) AT E m m m m
Y any = &

10| 1046P)\E  fEEQ) i m m m m
Wrh= Ay = &

11 15017 KA (D) FIE m m m m
NEN IR B = &

12 892\ A  Fndk (1) i m m m m
AN () =

13| 418| k¥ BEK(2) B pE m m m m
/Y REV] = &

14| 235|#akt & (1) P T = m m m m
K8 vt 7 ng = &

15 20| A2 0 =B (2) R il m m ol
YL Sl

16 518 IRE (3) R il m m m




— i B T PR (2. 000kg)

— IR e (KR) 55m69 JRJR HEIOANG AW ) SR 194 (2007) 11H4H 09:00 3 Bk
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
T = i
1 514 E0H A (D I B 87K m m m m
—_—r L
E 5 F A (1. 750ke)
W B R GEk (KH) 51m78 BB R (6L H ) D FnFeAE (2019) 11H4H 09:00 ¥ B
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
EIN = W
1 1ee4|FHA  # Q) G il m m ol
YoaT tfn = H
2| 41518 Bt (2) I 1L P m m m m
VA Vah = &
3 29|83 FEEE (D R m il m m
Ve tAn Bl
4 2708k E (D) R m il il m
SR = &
5| 119056 B4 (2) AR = m m m m
VY, = &
6] 1114|PNjE (1) HE m m m m
I DA%l = &
7 31 f&5 (1) R il m m m
L% = =
8 236[ 4 5 (1) (FEAT & m m m m
NED Valh = &
9] 1109[fEA &#E(2) HETE m m m m
R8T vart 7 ng = &
10 20| A2 0 =B (2) G m m m ol
¥4h7 APN = &
11| 421]db4+ %= (1) “EIR L pE = m m m m
TSEN MY 2 = &
12 492|fEA  KFE(2) UNETE m m m m
BN = &
13]  412]'FFH  RK(©2) FEIa L P = m m m m
#97 FIvah = H
14 1164 #k50) TR E m m m m




—fR B 7N —HE (7. 260ke)

— ARk (KR) 69m71 RS R (PR K284 (2016) 11H4H 15:40 ¥ B
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
(0F Jypny Sl
1| 6567 A RRARS (2) EESEPN il m m m
—_—r L
IR B TN~ —$ (6. 000kg)
IR = R R (KH) 66m82 vl AV AF0 3 4F (2021) 11H4H 15:40 3 Bk
HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
L% = =
1 236[ 4% 5 (1) (FEAT & m m m m
$77) 7vhy = W
2| 11590477V B H ¥ (1) HHE m m m m
Wiz B Ay ElE
3| 1501 KR (D) FIE m m m m
¥4h7 APN = &
4] 4214kt 1) FEIa L P = m m m m
Y NELE: = m
5| 497|FEH EREQ) UNETE m m m m
9T e = &
6| 233lnO 2 (1) FHEAT & m m m m
(0% 1k = &
7] 2420 m ARAEW) P T E m m m m
TR VILY = &
8| 423|H HPAARES (1) I 1L P m m m m
I = &
9| 1017|EE £ (2) B E m m m m
AER vahh = &
10] 1109|68A 248 (2) HPE m m m m
174 e = i
11 5020 HEdE (D) A E m m m m
D Vst = &
12| 23204k FEth (1) FET = m m m m
BZE = &
13| 412]5FH Rk (©2) I 1L HH P m m m m
AT 403 = &
14]  490] K1 15 (2) B m m m m




— = EF° D $#(800g)

= RGO (KR) 77m64 PP RKE (KRS R) K304 (2018)
IR = R (KH) 67m75 T EKEFEB L) K244 (2012) 11H4H 13:55 ¥ B

HIE | Fon' - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA

=vh7 By = &\

1] 6657|PEFT HEEM2) | ZEK m m m m
N2Vl = =

2 17| EHL (D) N m m m m
))Y% WA = &

3| 5903[Hp 4l BHM2) [=HK m m m m
v hya’ = HW

4] 1o44|EEE EE Q) HiE m m m m
FAVELLT = &

5| 1213[/NEEARAR (1) B 55 i m m m m
ENEAZt = &

6| 1121f/hFk A HEVE m m m m
EhY e = &

71 2113|411 FE=E(2) LN m m m m
P IEL = &

8| 1163|MH &) O m m m m
SN EVVEY] = i

9 281 |5 AR FAHR (1) e m m m m
AV ES VA4 = |

10| 5241|k8s  FonE T.6. K m m m m
Bl Sl

11] 1578|HH  EHA (3) LA m m m m
FhAT e Sl

12] 1520|% 4 EFE Q) —HE m m m m
VA = &

13| 1630| BHY  EHZ=() = m m m m
A% Sl

14] 408 A &4 (3) FEIa L P = m m m m
Ay av = &

15] 1210| KT JEIE (2) B 55 i m m m m
= 7 Sl

16) 1633|F4A  FEEQ) —=HE5 m m m m
Tt vk = &

17] 5463 kilE  El& ZHYAX— R m m m m
$ry ane = &

18| 5953|EME  EE ) =H A m m m m
SR = &

19 1118|¥EE ERO) HE m m m m
YT ahy Sl

20| 5236|:t TR T.G.K m m m m
/Y REV] = &

21| 2354kt & (1) P T = m m m m
YN B N hE = i

22 381|5EM  HE(2) TR H & m m m m
N = &

23] 225|AHk A e (2) P T = m m m m
IISEERL = &

24| 6665 32 A B3 (2) —HR m m m m
W Y adhng = &

25| 5043 |4 (LK KRR T Hx=T m m m m
TeEh phy = &

26| 5582l IuAK  {EiE “HEv ALK —R m m m m
1) HE = &

271 210|HRF KA O) P T = m m m m
ThES Vopny = &

28| 6775|F LERAER (3) PNTNEPN ol m m m
NV) gy O

29| 3957|REF A5 TR LR m ul m m
Y% vayh = i

30 4 A FEEB) R il m m m
707 V¥ =

31| see1lEE A (3) I B 475 T K m m m m
N R agaf =

32| 5620[¥&IE  FET- JACEASTII m m m m
DA Vany = &

33| 6511\ttt A = e m m m m




— BB & F100m

= H IRELE (KR) 11.50 jiinin F(CRANE) FA304 (2018)
IR = R (KH) 11. 66 BB 0 L (P9 H ) 41 4 4 (2022) 11H4H 10:20 #{hL—2
BAAV-%  12%A
1HE A/~ ) 2% B/~ )
Vv FunT - K4 i JIE(E ek V=y Jun - K4 e JIEf, Fodk
=y e Ut = B AE) 297 % = =
1 438 VHIE  FoZ(2) FHLmmES 1 6675 Ha&x MHHG) —“HK
BV 1V = & TR N = &
2 455 PENE  EEN(1) TS 2 44 O OBE©Q) GEERE
ARF =N T w0 7YY =
34004 $5K MTHE(1) FEEREEK 3306 lum /IO FEE
Rt A = & EVAINAVN = &
4 445 JbRE DBR(2)  FHALmET 4 942 JE WEQ) MIAH
va )R h = & MR = &
5 5085 il fn NAC 5 2200 LFFAeoHA(2) IERHIIK
AR F FEn A NS = &
6 4003 gk MEHE(D) FFEIK 6 443 =im 1722 Q) FRLEES
IANWES A 4 % O
74390 ZE ER kA% 7 5247 RxFF EM IR TFC
[ REY)] = & #7 b)Y = &
8 840 A f&AE(2) AR 8 6676 JI| OFH@B) BEfEK
¥Eh vt = & 5 T4t = &
9 302 AR EHRQ) FEE 9 1081 (L () HMEE
3% A/~ ) 4%H B/~ )
Vv funT - K4 i JIE(E ek V=y Jun - K4 e JIE(, Fodk
VSZIR ) = & x4 Ut =
1 452 AdF ER )  FmdEEE 1 5071 RiEFfIES TRIBE
AFHY 24 = & JINETR Y = @
2 1137 ®iIl FEAN(2) s 2 5839 HMAT  BAE() EEfEK
NEN T = & WA T =
3 457 AR THE(1)  FRLEES 3947 B CEQ) M
REl T b1 ' "
4 2 JEH RH SEANRE R 4 436 fitdy £ A () FALHENES
an' vy FtY = = T 1Y = =
5 6686 /ML TH(B) ZFEK 5 1136 KJII EH () HE&E
%1F ) = & e} T = @
6 432 g FJH(3)  FHhmES 6 1142 (AR #MFEQ) HEEH
thye & = = VZ = =
71141 WA LA (D) HES 71600 JIIA MEG) 2EfES
I A} s = & N = &
8 1138 HIHN L (2) HPE&E 8 5912 JEEMAFIE (1) HEHEFRIK
Y h)y = & 1) = &
9 1593 [k FE(2) BEAMER 9 46 BEP LEEQ) FFERERE
54H A/~ ) 6HE B/~ )
Vv FunT - K4 i JIE(E ek V=y Jun - K4 e JIE(, Fodk
Yep Uht = & P RedEET) = &
1941 (LU FEM(2) s 1 483 L OLEQ) BILE
Rl = & Thad Tt =
2 1545 HY BEFI(1)  HEES 2 517 Wk EF(2) AEEMKE
VAN I = & Wyt = &
3 1591 #EH fEEI(1) 2EfE 3 1261 & 1HFE(Q) —HE
M F = & ¥4t 74) = &
4 2207 PO BEQ) ERENIK 4 1202 defd EAHL(Q2) 4REEE
R = & I8 ) = &
5 1008 mA  #A(2) A& 5 1598 fEH  #iJh(2) EEfES
A A = & Al = &
6 1218 KEHEEHM(Q2) PG 6 1589 HnH () BEfES
Uz = ®#H ay) ¥¥ = =
7305 fAEAEA (1) GHEAE 7 1546 #¥ Q) HEES
97°94 794 = & proF ¥4 = &
8 903 kizk #AE (1) ¥ 8 312 TN /(1) AR
I YT = & E NS = &
9 1093 HH MEE() HpEE 9 461 FHHHBWVA) FELmEE




— BB & F100m

= H IRELE (KR) 11.50 jiinin F(CRANE) FA304 (2018)
IR = R (KH) 11. 66 BB 0 L (P9 H ) 41 4 4 (2022) 11HA4H 10:20 44hL—A
BAAV-%  12%A
THE B¢/~ ) 8K A/~ )
V- PN - K4 i JIE(E ek Vv Fun - K e JIEf, Fodk
ISZNs i = |
1 906 ATE BREE (1)  L¥FE 1
THE Y 2)v = & JA M = &
2 1534 HA HEQ) —“HE 2 1607 AfE W) g
e vt = & (FH°% af = &
3396 At WLE (1) FHRILMEG 3 1166 fnlE AK(2) HEH
FhA AV = & Yvvh aq = &
4447 HIF EF () TiRLEES 4 1011 (bF EAQ) FHAH
Nova PY = & 2 E) 7 = &
5 1594 RIFT R (2) EEEER 5 1203 EAHREEF(2) SEHES
Ty 790 = & B TH = &
6 158 Wil WAME(2) wieikaew 6 450 HH FEEQ)  FRLEER
394 i = = tn % B
7428 I JZ(3) FHRLMEES 7 451 J# HeA (1) Fh L ERES
ETAN T = & £ aF = &
8 1595 FH FHF(2) BEAEH 8 448 kIt BAWT (1) =l
=te vt Bl b7y 3 = &
9 505 FILNAARQ) AJEE 9 400 FH A&k Q) FiHLME
OfH G/~ ) 104E A/~ )
V- Fun - K4 i JIE(E ek Vv Fun - K e JIE(, Fodk
1 1
PYSEI N = & vy A7 = &
2 399 #Kk L) FHRLmEE 2 1639 [LUEBCEE (1) EES
v57 ~F = & Y WA = &
31054 JMH PI@Q) HE 3 1010 HJII EEN(2) A&
) bl = & RSP A4 = =
4 307 F BEEEQ) fEmE 4 299 (L Fit(2) GHE&E
)0 =a = & =yt toh = &
5 1590 Bgfn SHEI(D) EEEE 5 902 PR fH#EEQ) L&
[NV = & a8y <t = @
6 1515 [MF FA (1) RBES 6 308 R AR () HHEAE
Y TET = = VEVAER VS = &
7484 Juli BkE (D) RS 71468 KA WHQ)  AJmEHKE
W7 h)v = & e 49 = &
8 1599 =i A (2) EEMHE 8 1217 il b (2) W&
MY tF = & EMIVAVIN = &
9 157 #k D72 (2) WA 9 1306 FHAT SR (1) FH&E
1142 A/~ ) 1248 B G/~ )
Vv o - R4 i JIEGL Fodk V=y Jun - K4 e AL Figk
1 1
AR F )T = & SN = &
2 304 #iK AZE(2) GEAE 2 444 Jhih fERE(2)  FRILMEERS
RN = & w7 v = &
3 47 JE B30 FEREFEE 31009 mA Q) tHA&E
TN Y PR = & 175 a7 = &
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wIE | o - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
2y = = m m m m
1| 387 [ (2) ek +/- +/- +/- +/-
A ey = = m m m m
2| 1850[{#fE  BRIE (1) — Y +/- +/= +/= +/-
HUxE )7 = = m m m m
31 1907PNEHTE 1) ek +/- +/- +/- +/-
e = & m m m m
4] 1085w E¥fE(3) e H +/- +/- +/- +/-
[ELANEVAVN = = m m m m
5|  838|Em  MhEEQ) Bl +/- +/- +/- +/-
UHFAT 2yt = = m m m m
6] 1767|¥EE  RiEQ) B +/- +/- +/- +/-
vy <7 = = m m m m
7] 2367[R T EREQ) it-ghp +/- +/- +/- +/-
LEVVANZA = & m m m m
8l 1281|)1  EE Q) S +/- +/- +/= +/-
S = & m m m m
9| 2749|HH  EH ) /MR +/- +/- +/- +/-
EMYARe] = = m m m m
10f 2745|EA B Q) /MR +/- +/- +/= +/-
e 74 = & m m m m
11| 1786|#aA B4 (D) —EH +/- +/= +/= +/-
HUHh 1k = & m m m m
12] 2368)i = (1) it-ghp +/- +/- +/- +/-
VZkabA = = m m m m
13] 15904 AE  Hifs (2) /MR +/- +/- +/= +/-
Ju Avh = & m m m m
14]  396]%F = & (1) L L +/- +/- +/= +/-
=vye % = & m m m m
15| 2927|FE L7z > & (1) I JEVEH +/- +/- +/- +/-
=vk W = = m m m m
16] 620|062 R (2) IR +/- +/- +/= +/-
LA AREDE = & m m m m
17 1793|HH  PEF-(2) RS +/- +/- +/- +/-
i TAF = = m m m m
18] 2370 H EA Q) g +/- +/- +/= +/-
) =a = & m m m m
19]  164|FF WL (2) —EH +/- +/= +/= +/-
+774 J0h = & m m m m
20| 5544|850 v 22 (J2)  [KINGDOM AC +/- +/~ +/- +/-
Thh7 ~F) = = m m m m
21| 1286|F A #EJTH(2) L +/- +/- +/- +/-
Yoat ayt = = m m m m
22] 997|113 #EH (2) it-gap +/- +/- +/- +/-




2 - ZE R Bk

11H4H 13:30 & B 141
IR R ek (K)) 6m00 s BE (& K BN 4 4 (2022) 11H4H 13:30 ¥ B 2%
w B
250
wIE | o - | K4 B AEIRE] 2[BlH 3[ElH Rk JIEfT VA
/A = = m m m m
1| 272212 2H 1) AL +/- +/~ +/- +/-
) FUE = = m m m m
2| 2989|fEHT A (3) JSRRE +/- +/- +/- +/-
2NN = & m m m m
3| 685|MH  LiE(2) et Man +/- +/= +/= +/-
IR 77 = & m m m m
4] 2783 | ALRFIA A (1) E S +/- +/- +/- +/-
Yo7 vf2 = & m m m m
5| 2159 1M 2T (1) et Man +/- +/~ +/- +/-
tay7" Fhv = = m m m m
6] 533l FE(2) IR +/- +/- +/- +/-
Tr kY = & m m m m
7] 5972uE  WLE (JU)  [Sun TFC +/- +/~ +/- +/-
) bhl = & m m m m
8| 2477|&% U b (1) JEAE +/- +/- +/- +/-
eathwi = & m m m m
9| 1372|fEE  ASEE(2) I JEVEH +/- +/= +/= +/-
IVZEN = & m m m m
10f 837IRIAEEHIE () [BeiE /- /- /- /-
) F ok = = m m m m
11 389| &R0 fEH (2) 2Rk +/- +/- +/- +/-
Ayl = & m m m m
12| 2723340 JERL(D) A HE L +/- +/~ +/- +/-
4= thh = = m m m m
13| 13664 EHE(2) A JEVEH +/- +/- +/- +/-
YRy U7 = = m m m m
14 1406|2565 (2) VEE A +/- +/= +/= +/-
I4)7 a7 = | m m m m
15| 2751k& #EH Q) /MR +/- +/- +/- +/-
=vhy 741 = & m m m m
16] 2727]78)1 EFi() AL +/- +/- +/- +/-
% MR = = m m m m
17) 13703 K FHE () I JEVEH +/- +/= +/= +/-
ANy 47 = & m m m m
18|  b24|7ERE ek (2) AR +/- +/- +/= +/-
The TP = & m m m m
19] 1663|HH:  FEH(2) E S +/- +/- +/- +/-
AR N VES = & m m m m
20| 5671|#EZFE  EH (J1)  [AEEFRC +/- +/~ +/= +/-
HE) av = = m m m m
21| 527|&AR  AERE(2) S +/- +/- +/- +/-




A PR AL (2. 721kg)

WAL 2308 (K)) 15m60 AN FifE R ) B 5 4 (2023) 11H4H 09:00 ¥ W
s | - (R4 7 1=l H 2B 3l A d NEE apvh

ERSCEl = &

1] 2474kl # k(D BT m m m m
DZANEES) = &

2| 1367 FiH L& Z5(2) AJETEH m m m m
Tt M = &

3| 5970|H R FHEARUD  |HEEFRC m m m m
TYEN A% = &

4] 2225[ILiAK B2 (1) s m m m m
*ptn 1 = &

5| 1776{dbld =72 () R m m m m
INE gy = &

6] 1905|H4H B (D) ek m m ul m
{7 74 = &

7] 17351 AR ERE(2) REEH m m m m
Y b= 1Y = &

8| 2221|Mixs  FEE (D s m m m m
Wks )7 = &

9] 1907pNEHhE ) ek m m m m
VI F 94 = &

10] 1449|060 §75(2) B m m m m
VAR = &

11| 1773)5k SRR (D R m m m m
4= e = &

12| 1366|134  #E¥E(2) A JEVEH m m m m
09 744 = &

13| 1282])114k ZH (2) L m m m m
BEF D 74 = &

14| 2804 =) 0 m m m m
Yvvh af = HW

15| 1407|ILF FELL(2) VEE A m m m m
proF aaf Bl

16) 1734|170 L3E(Q) EET m m m m
A=y 743 = &

17) 1451 K ol (2) B m m m m
e <k = &

18] 13699l E(2) AJETEH m m m m
LAV REVES = &

19] 2369|ZEH  #H 1) i t-ghp m m ul ul
) Sl

20| 839 LiMEAm K B B m m m m
hrny TE7 = &

21| 2220 &SP HE (1 g m m m m
AhEN )Y = &

22| 2726|MA w1 AL m m m m
THAD = &

23] 1586 | i % 4L (2) NG m m ul ul
AT alf = &

24 1036[3  #HHEZ(2) LA m m m m
0y T = &

25 1520f3+ #(3) AL m m m m
=y Jika = &

26| 877\ HEA T (2) FEE) I F m m ul m
I = &

27 8h2|EiE  EEHi () fodb e m m m m
I = &

28] 1583/MA  BEHE (2) MR m m m m
794 Pk = &

29| a4l EH Q) i m m m m
¥)¥e 13 = &

30| 1086[H1l A (3) i H m m m m
=y W)V = &

31| 390l KM M-E(2) ek m m ul m
ST = &

32| 1163|ED ¥ (2) 2 m m m m
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